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= 184
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HAH 2L 503,307 425,449 77,858
2 34,778
pJ 2,925
= 33,808
2 431,796
SHAI S XF 22| XI ) 66,136 68,630 2,494
2 33,068
L= 33,068
307 2I2+0IA 66,136 68,630 A2,494
2 33,068
= 33,068
02 QIZHANE X 66,136 68,630 2,494
OstdlZtOIAIE 29 XI& 66,136
= 33,068
= 33,068
TP Rrshesg=- Rl 20,350 17,700 2,650
201 LB 3,500 2,560 940
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OuIoIE ¥ 848 2= M 600
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oz oY s2= MH 1,500
Ocl=8 2503 *2,0000H 500
OZE2HH 45+250,000& 1,000
Ogtdlol & AN X 700,000& +2CH 1,400
301 etEd= 1,000 1,000 0
10 SAHAHIEA S 1,000 1,000 0
Ostdlol g AL FHIt E&= 20,0009 x50 1,000
307 2120l & 15,850 14,140 1,710
01 24+ =l 2,500 2,052 448
ogtddgd A48 7Y 2,500
OoTczEs A A 70,000% » 10 700
OZat M & 12,0003 252 6 1,800
05 BIARE = 13,350 12,088 1,262
Ostdld e 2el At 140,526 95 13,350
olol=ggue 5,850 4,500 1,350
Jl 2,925
S 250
s 2,675
307 2120l & 5,850 4,500 1,350
) 2,925
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= 2,675
01 A2 =H 5,850 4,500 1,350
OO0l E ¥ &Y XAl 2 5,100
O0IoI X &IE Al 3,000& *1,000A4 3,000
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= 1,500
Odd e Alef 3,000& #7004 2,100
Il 1,050
= 1,050
odgadd ¢ Xzl 5,000& «50A4 250
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O0l0lE XlI=H| 500,000 =1 500
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=RAGHIZ LA I 222 480 480 0
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OALHE Al EHAARITE) 8,500
405 AHoHESHI 46,000 27,000 19,000
01 MHARESFSH 46,000 27,000 19,000
O3 At ZHl 7 46,000
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Ootadllz= 3,000,000 = 1CH 3,000
og=2+=J 1,000,000 =1CH 1,000
dFEEH 2 245,811 248,125 N2,314
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OEHA gdgolz2g 20,278
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OFiga:] 3,000& «2H 1802 1,080
O=.8X=% 38,0003 x2EH 30 2,280
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